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A 38-year-old man presents with acute infection of skin in the leg. Diagnosis of cellulitis has been
made. What should be prescribed?

A. Ceftriaxone + Flucloxacillin

B. Vancomycin + Metronidazole
C. Metronidazole + Erythromycin
D. Ceftriaxone + Terbinafine

E. Penicillin + Flucloxacillin

Answer: E

Explanation:
Penicillin + Flucloxacillin. Cellulitis is usually caused by bacteria, such as staphylococci or streptoc are
commonly present on the skin. So Penicillin + Flucloxacillin should be given.

Hypothyroid patient on thyroxin had anorexia, dry cough and dyspnea& left ventricular dysfunction.
She had

normal TSH & T4 levels, Hyperphosphatemia &

hypocalcemi

a. The diagnosis is:

A. Hypopituitarism

B. Primary Hypopituitarism

C. Secondary Hypopituitarism

D. Uncontrolled Hypopituitarism

Answer: B

Explanation:

Primary hypoparathyroidism is defined by a low concentration of PTH with a concomitant low calcium
level. In pseudo hypoparathyroidism, the serum PTH concentration is elevated as a result of resistance
to

PTH caused by mutations in the PTH receptor system. In secondary hypoparathyroidism, the serum PTH
concentration is low and the serum calcium concentration is elevated.

Condition not associated with increased alpha fetoprotein:
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A. Myelomeningocele
B. Down syndrome

C. Spina bifida

D. Gastroschisis

Answer: B

Explanation:
Down syndrome associated with DECREASED levels of alpha fetoprotein. Not increased. Reference:
https://en.m.wikipedia.org/wiki/Triple_test

A female presented with swelling over the neck that moves with swallowing with lymphadenopathy at
external

jugular vein. Swallowing diagnosed as thyroid

carcinom

a. She has most likely which type?

A. Papillary carcinoma

B. Medullary carcinoma

C. Follicular carcinoma

Answer: A

Which of the following is not a degenerative corneal disease?

A. Keratokonus

B. Marginal dystropathy

C. Fatty/lipid degeneration
D. Moorens’s ulcer

E. Band keratopathy

Answer: D
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